g Al A

A
=

Ol &b A

Al

0]
[ap)
L._u Oy % o) [Ye)
. e ol [ep] Al &
w | 2= | 1t
; g |- |- B )
E=] : )
(]
% o (]
2 [aN) Al |
HZ ) 1E12]E) [
._._.mur_. < M 5 g e 4@
uild| & i ’ “I
3 <t
o <
2|5 :
© 2|3
, S o o
REEE|B | [ ]
. > © © 3 ) 5 | , | | |
n/._n/_ y v | | | | S ] o (@)
8845 , | | | ) [Te) © |©
- 3572 8 y y < Q¢ : , ,
Oﬁ - — © L < S ) S & 8 | |
< © > [ < |2 SHEIS ca® 28
i ~ | o . S % = - % ww oo
m : €888 2 8
@@
g y 2 S o o
95 © 3 S32¢
5 y S S S o o
S gEE S1818 8
QuV y S S o o
mWH=< | mm, M, mw, | m |
S || s = B8
212 E|128 .
2122
D.__. IE [<o] © M
: ol ol ol ol B
m_ 2Lad 0
. * * * * MM @ N_|
by ~ . : %= |
mm mA@ wm mm ; * - A o <r T
< « x F mom mO,C oll oF) i .M - :
s wowm ® S : = 5 11 : M
= o o o - ® m w . :
— 8 8 38 3 2 , E i oz * !
) ~ L, 88~ 2 - RS g 8 8 : : |
\I; ﬁ H_Tns,m, » o B S S S < ) - o B ~4
= ol 3l = o M < £83 S8 g 8 N : i i
__|z w__m__ﬁ_ M m - ~ R . 8 o & 3
= | , r
% % : 8, :; ] S <8 WS
E M } : 7 S 2 <+ s Ko S
. = | 1o Uo o 2 ; 2 ] amw,
1) KF 5l _”AI I+ 0 S WZ : MﬁM.
K0 = < mJ ol W ™ ¢ | _._._o ﬁI
= | o D R i M x_ m ﬂ ﬂ
. | M0 7 = o R 5 o : § DI__ |
g W | = R =z 9 w S m__. 1 _L|
oJ . : x_' | |
o+ ER on @) 5 0 0 00 |7 1o ; i @ : :D 4
=] = A s |3 3|0 & 80 E KE o :
0 K| W | = oM il 5 = 32 by :
0 UD = I O 0 = - 2 8 K| M : :
N g |° 2 = 5 W uo __MT a5 : __0 :
o~ O = | K ok Ko | o e = :
o ~ mr O @‘ N b3 : oI
| o |2 o | N e
S |2 o Olal |~ DEIE :
@ < e e
S |e S | ¥ p :
™ 1 3 O
I

=




2AMd: DS
MY AN DEMWH £
Eel: ns2el(LEANNSALSESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
JEHE HEgH 2el 97,460 87,250 10,210
201 £B-2d| 85,060 75,350 9,710
01 At 22l 21,100 12,300 8,800
OUHE MEHLR S2SMH
500,000& * 28 1,000
ORSH 28 2 24 Zg442
1,000& * 300 300
OBSEHIXN2H ARES 7
200,000& = 123 2,400
OHSEIX 2E dlE =2l
20,0003 = 304 600
Ousnezs MY IXA M
60,0003 = 104 « 128 7,200
Ousieis My € SEAXAM £
403 * 20,0004 = 123 9,600
02 =24l 63,960 63,050 910
OCLSIUEHE S5 DN €8 2H=
2,530& 7,000 17,710
OUNSUEHZE MEINEER =8
100,000& » 12&8 1,200
ODXAMESEI AL 150,000& =+ 33l 450
OHXZ LRAHIA 018 +42
11,000,000& * 14 11,000
ONSUEHZ ARS tHYIRAAY =L =
== 80& * 5,000 400
OuSUEHE ARS HEERAAHE SN2
2,000,000 = 4=D| 8,000
OANEEZ AAMZEINANAE Ols8s S4R
= 50,000& = 441 « 128 2,400
OuUSIUEHE BSEIIANLE RAZ>
1,200,000& = 42 7| 4,800
OULSIUEHE ARS MH &€ 1d0lE
18,000,000& * 14 18,000
202 Od4dl 5,400 5,400 0
01 = LH o4 4l 5,400 5,400 0
OMEd 842 =Y
20,000& = 3% = 903/ 5,400
303 L& 3 5,000 5,000 0
01 243 5,000 5,000 0
ODEE HEY F+ENS
5,000,000& = 14 5,000
405 XHoHF S HI 2,000 1,500 500
01 AL ESFH S 2,000 1,500 500
OLHE Mgd+ g2 NI 7

2,000,000& =+ 1CH 2,000




2AMd: DS
My TAN DENH =3
©el AlZZe(LEANDSALSESAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
N2 (LENDNSAMEELESIA) 2,256,400 3,076,700 A 820,300
Xhd &= A4 1,572,000 1,231,700 340,300
201 Let24d] 8,000 4,700 3,300
01 At 22/l 8,000 4,700 3,300
OXEMAHI SXNE = 1,000,000& * 3CH 3,000
OBHA MMM HTEH 42
5,000,000& * 14 5,000
202 o4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OQusAlE =& ot
20,000& = 6% = 502/ 6,000
206 M= Hl 15,000 13,000 2,000
01 =8l 15,000 13,000 2,000
OXNEEME HAE F 100,000& * 100 10,000
OXNEEME HE P2 50,000& * 100 5,000
305 tHat=s 3,000 3,000 0
01 Hia=s 3,000 3,000 0
OXNEEM =N e XIS3E BE&2
3,000,000& = 14 3,000
401 AIEHI L 2CHEI 1,505,000 1,205,000 300,000
01 A& Bl 1,500,000 1,200,000 300,000
OsFA Xt T 1,000,000,000& * 14l 1,000,000
O&Eal Xt M 500,000,000& = 14 500,000
03 AIE 2 0HHI 5,000 5,000 0
OAIE S THHI 5,000,000& * 14 5,000
405 RHoHF S HI 35,000 0 35,000
01 AL EZFH S 35,000 0 35,000
OoAad st2xt ¢ 30,000,000 = 1CH 30,000
ONR OJla 9. uedl 7Yy
5,000,000& =+ 1CH 5,000
dss X & 2el 684,400 424,000 260,400
201 Let24E] 220,400 120,000 100,400
02 2324l 220,400 120,000 100,400
Odtls, 388 &dilag 13,000,000& = 12& 156,000
ORoHEIN0t SRS
30,000& = 40004 « 123 14,400
OsooaIin HY 442
50,000,000& = 14 50,000
401 AIEHIZL 2] 464,000 304,000 160,000
01 A& HI 459,000 299,000 160,000




EX: BwEY
M CAX DENH EX
SRl ANEZ22(ZEANLSAIESESIA) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Onsdlss &xl 30,000,000& * 344 90,000
OL=FMOAHII WA 7,000,000& * 504 4 35,000
O3BNsSsS &K 12,000,000& * 204 & 24,000
OLEDEX & & X 3,000,000& * 1094 & 30,000
OnNsSilss RANES 200,000,000& = 14 200,000
osgasIl X 2,000,000& * 1094 & 20,000
Odls Ads3t B3 At 20,000,000& * 14 20,000
OF&s 4x 2,000,000& =* 2004 A~ 40,000
03 A& 20 b 5,000 5,000 0
Onsdlss A8l 5,000,000& * 14 5,000
QIS A NESstd 2= 5,548,006 8,450,727 N2,902,721
s 582,000
& 174,600
Al 4,791,406
QHH AR (LEANDNSAMAELESAH) 965,208 528,789 436,419
=Y F=EI 22 658,792 528,789 130,003
101 @121l 53,242 51,179 2,063
04 JIZtHI22 NS E 53,242 51,179 2,063
OF XA oAy 53,242
ocllz2 78,400 * 49 « 120 37,632
oFFE 78,400 * 4% x 14 4,391
SRGPNESE=: 78,4003 * 49 * 4 1,255
o A2t 14,7003 * 4% = B60Al2¢ 3,528
oAl B E 46,804,000& * 13.75% 6,436
201 2ot 2 Y| 196,450 194,710 1,740
01 AFR2t2ldl 74,350 74,110 240
OusSXNEY =X 0=
450,000 * 1294 5,400
OYEFX=X A 225 2
10,000,000& * 14 10,000
OdAX S AXZ 60,000& * 2003 12,000
O#MAIA & L AHAOXESY S A
8,000& * 5% » 8 » 12& 3,840
OuszZHe =22 MA 10,000,000& * 14 10,000
Oeloletd nEs JIANM *
5,000,000& * 14 5,000
OFHIHS NEE2 DA & M2 ME
12,000,000& * 14 12,000
OAZ #HAL nE22 24|
121,250& * 120Y 14,550
ORHEYUXNXNSAEZA CCTV Xt s
130,000& * 12& 1,560
02 53294l 120, 100 118,600 1,500




2K BWE
Hu: 00EY DEBY 25
Sl YU BR(ZSADSAYSEIN) EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OEAMNBYR T2 I &2H(28)
700,000& = 12€ 8,400
OMAE 22X &2 MPlA X221
11,000,000& = 14 11,000
O=2R0AE2N T2 )8 X122/
350,0008 = 12& 4,200
OxsRNH(BEE2, &4H S)
10,000,000& = 1A 10,000
OX SFU (=X, AEEAX, IR
10,000,000& = 14 10,000
OFEX 9 DEIE 22 2w
2,530 * 2,500 ~ 12€ 75,900
ORdeXNsSAHE2L JIRS
50,0008 = 12&€ 600
03 A2 G H| 2,000 2,000 0
OMAIX S DESAK eI EH 2
100,000 * 20™ 2,000
202 o4 | 13,000 13,000 0
01 2L HI 13,000 13,000 0
OSAMNEIR L AIgH 22 S22 0]
20,000 * 10¥ = 653 13,000
301 et A= 4,100 4,100 0
09 HAIAHI X & 2 2,000 2,000 0
ONSEAMNB0F HAENH K&
200,000& = 5% * 23| 2,000
12 JIEtE A2 2,100 2,100 0
OnNsSAMD dtes X TIisH X
300,000 = 7H4 2,100
305 HHA2S 10,000 5,000 5,000
01 & =2S 10,000 5,000 5,000
ORXEAQ 3= HiAZ 10,000,000& = 14l 10,000
307 giztol A 12,000 9,000 3,000
02 QIZIA AAIE E X 12,000 9,000 3,000
OQuUSESoNE SAISH &4 X
15,000,000 * 80% 12,000
401 AlEHIZL £ 0HY| 370,000 251,800 118,200
01 Al&H| 370,000 250,000 120,000
Oo=folct=3t0et & X 30,000,000& * 8IH A 240,000
ORoEEIHe € 2D Asid
5,000,000 = 10902 50,000
OCCTV =Xtet= CHHEXIE &X £ WH
50,000,000& * 14l 50,000
OSEHFEX HEAE A
30,000,000 = 14! 30,000




A S
oIt

HE: AUZY NEBY 7=
Cel: g 2 (LSANSASELESA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NAEEMHe s SEE22 306,416 0 306,416
101 @14 Hl 210,976 0 210,976
04 JIZHHZ2XNEE S 210,976 0 210,976
ONEEAA LAIAISE 12 210,976
=Jl2g 78,4003 = 184 » 11 158,682
oFF 78,4003 = 184Y » 2¢ 28,852
cANEY RY3 187,532,800& * 12.5% 23,442
201 Let24d] 40,440 0 40,440
01 AP 2teltl 40,440 0 40,440
OdeRE LRz 15,000,000& * 14 15,000
Ounszel 228 2 15,000,000 14 15,000
OusSetl &= &1 10,440,000& * 14 10,440
206 M= Hl 15,000 0 15,000
01 M= 4l 15,000 0 15,000
OustdAd 223 F
15,000,000& * 14 15,000
401 AIEHI L 2CHEI 40,000 0 40,000
01 A& Bl 40,000 0 40,000
Onsetl X8 &X 40,000,000 = 14l 40,000
WEEE MAF(LESANLSALSSESAH) 4,582,798 7,921,938 A 3,339, 140
s 582,000
< 174,600
Al 3,826,198
FIUHE Sz 2,437,838 1,215,518 1,222,320
101 @144 Hl 26,638 128,018 A 101,380
04 JIZtHZ2XREES 26,638 128,018 A 101,380
ONYFENT(SH) LAAY 28y 26,638
=Jl2g 78,4003 * 1¥ = 230 18,032
oIt 78,400& * 1% = 11 863
oFFd 78,400% * 1% = 46¢¥ 3,607
oAt aE
14,7003 = 1% = 8AIZ2t = 10& 1,176
cAUHEE RE3 23,678,000& * 12.5% 2,960
201 Let24E] 616,200 323,000 293,200
01 At 22l 586,200 293,000 293,200
O3S =X ML Sz
30,000,000& * 14 30,000
OZYFXE NP2Y 428 7Y
8,000,000& * 14 8,000
OU=s RPEFXNE 2 =22 NH
5,000,000& * 14 5,000
OFX& 2R gtz 500,000,000 = 14l 500,000




2AMd: DS
Hu: 00EY DEBY 25
©el: nsEd HAS(LEANLSMHEELSA) (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O2gFXE =XUH2MEBH RAE=(BUH)E
== 600,000& * 6 A » 123 43,200
02 =224l 30,000 30,000 0
OZ3ZFxE MEE RXES
20,000,000& =« 14 20,000
OZBZFxdE 22 23 10,000,000 * 14! 10,000
207 A RO 80,000 0 80,000
01 H23 39l 80,000 0 80,000
OBYFEXY 9.42 [AIAN B8Y
30,000,000& * 14! 30,000
OHZF=X RAFIM AlEHE =8
50,000,000& * 14l 50,000
305 a2 S 10,000 8,000 2,000
01 tiaf=S 10,000 8,000 2,000
OZTY=ENZ(NGRY) Hysle 24
10,000,000& * 14! 10,000
401 Al HIZ 2018 1,705,000 755,000 950,000
01 A& HI 1,700,000 750,000 950,000
Og=xE =8 & |FXNES
1,700,000,000& * 14l 1,700,000
03 A& =2 THHI 5,000 5,000 0
OAIZ 24l 5,000,000& = 14 5,000
STE(HA - 8Al) X & 22 579,000 299,000 280,000
201 Let24d] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OANUHA SEHAIZE ZH($4)
6,000,000 = 14! 6,000
401 AIEHI L 2 CHYI 573,000 293,000 280,000
01 A& HI 570,000 290,000 280,000
OsZd& dazel 60,000,000& * 14 60,000
Osdd |RXE=* 90,000,000& * 14l 90,000
OLYH 24 2 =3NS DA
420,000,000& * 14 420,000
03 A& =TI 3,000 3,000 0
OAIZ 2 HHI 3,000,000& = 14 3,000
WSeHEAIE X & 2 391,960 397,420 25,460
201 Let24dH] 68,960 94,920 A 25,960
01 At 22/l 21,920 14,920 7,000
OusdANL 223 7
10,000,000& * 14 10,000
Ousetd 2= M 5,000,000& = 14l 5,000




2AMd: DS
HH: 0INEA DEHY 7E
©el: nsEd HAS(LEANLSMHEELSA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OnSeHEALE =X 24
8,000& * 4% » 60 1,920
OREYFEI MRS Ba2Y
100,000& = 10¥ = 53| 5,000
02 =224l 47,040 80,000 A 32,960
OANd=AXE =82 X H  500,000& » 128 6,000
OusasHOI 2¢ctelst Sees
10,0003 = 34200 » 12& 41,040
206 M= Hl 45,000 34,500 10,500
01 MHZ 8l 45,000 34,500 10,500
ONEdREES ¢ 35,000& * 1,000H 35,000
OSEI EXE 2 50,000& = 2004 10,000
305 tHat=2 S 3,000 3,000 0
01 HHa=SE 3,000 3,000 0
OusAE20l 28 FAXZHI
3,000,000& * 14 3,000
401 Al HIZ 201 8] 275,000 265,000 10,000
01 A& HI 270,000 260,000 10,000
OANERrRES &X 20,000,000& = 14| 20,000
OunsetdEX B AX| 100,000,000& * 14l 100,000
OnESetEAIE RXRE= 100,000,000& = 14 100,000
O0lHE==2HHI (LS &) 20,000,0008 * 14 20,000
Oogctzas £X 30,000,000& * 14 30,000
03 A2 S THHI 5,000 5,000 0
Ousetd AlIZ 20l 5,000,000& = 14 5,000
SENT EXEY EEAY 1,164,000 0 1,164,000
s 582,000
< 174,600
Al 407,400
401 Al HI K 201 1,164,000 0 1,164,000
s 582,000
< 174,600
Al 407,400
01 A& HI 1,035,000 0 1,035,000
ORI =XEY ZHAY
1,035,000,000& * 14 1,035,000
s 517,500
< 155,250
Al 362,250
02 Zeldl 104,000 0 104,000
OS&XF =IEY ZEAY Zel 84
104,000,000& * 14 104,000
s 52,000
< 15,600
Al 36,400




2AMd: DS
Hu: 0REN DNEBH S
©el: nsEd HAS(LEANLSMHEELSA)
SA - BB (3) - NRALY - BES Of & o8 il
03 AlE 2 THHI 25,000 0
OfREXF FXELY ZHAY AIZ20Ud]
25,000,000& * 14 25,000
s 12,500
= 3,750
Al 8,750
ol gl gl 10,000 10,000
801 Gl Hl bl 10,000 10,000
01 Letoiidl gl 10,000 10,000
Ogetolidltl 10,000,000& * 14 10,000
HY2AZH (LS) 378,411 343,263
IHA2IH(ZENULSASSESIA) 378,411 343,263
oI 2| 378,411 343,263
101 14 Hl 336,420 343,263
03 B2 (RIHY)2Z2NE S 336,420 343,263
O3RAZ2 X olAt| 336,420
=lleg 172,625
HEB X 2,500,000& * 2% * 123 60,000
YR 2,346,340 * 498 » 123 112,625
oc¥I2d 16,106
HYB X 1,320,000 * 2% * 23| 5,280
oL 1,353,170& * 4H » 23| 10,826
o FE S IHHI 19,327
HYEB XL
2,640,000 = 60% » 23| * 2% 6,336
X olole
2,706,340 = 60% » 23 * 4% 12,991
CcHIIRSF I 16,701
HYB X 117,520& » 20 24 4,701
A HOIR 150,000& * 4%H » 20 12,000
oA2A2RFE 28,246
HEE X 20,6703 * 2H = 30A|2t 1,241
= oiol s
28,1303 = 4% » 20A12t = 128 27,005
o Z AU GAH| 10,080
- HHEE X 140,000& *» 2& = 12 3,360
AR 140,000& = 49 = 128 6,720
oML (HYCIR)
2,706,340 = 34% * 103 * 4H 36,807
ol sSE X 10,080
HYLEXL 140,000& = 2H » 123 3,360
A YRR 140,000& * 4% » 12& 6,720




0}

ur

= o

[ERGR
Ho RO ®r
ERRGY

2N
X XH
L= B
=

o o — (o)) [Te) N~
(@) o D <t N~ (<o)
NN Bt M ©
Ao & B |e = =
Klo
El
E=]
o o o o o o
H3r
uilEd
k=S
o o o o) o o o o o o o — ()] (o)) [Ye) [Ye) N~ N~ o o
o) [eV] o) O [de) <t aQl (V] o o o ()] <t <t N~ N~ (<o) [e2] N —
© ~ © - ® © o~ ¥ (S DA N et =~ No© N ~ ~
3
<
=3
Gl a ol a ol W oW 0 S B S g s
D._—. x x *x *x x * x * *x x F_m — * x
0 0 0 al 0 B0 80 & oL [ * o ]
%0 < < < N N < ™ S S S uo — o o
N 1S S ISE ol S S
BJ * * * « * * * e =1 S W S S
: W ® B W W g S s ¥ S g g
3l S g8 g ¥ 9 S 8 o < S B w0 8§ S
o mwo, mwo, o * EO, S o o ) nes o o = 1) ™
Fo|2e I3 © ol i ¥ o i a0 = I+
= [@° 9" ~ = oD 0 F R Ao
R 30 31 I+ —~ 8 R0 Rr i+ o i i
—~ |rr Rr 5l o ® —_ no Y o+ I+
= |5 =S 1) 5l et o+ fo 0 %0 0 0
ol Rr 3l ol Bl H & o H H
<k <k - Y <k = n - = =
— o = Rr U ol ol 0 =~ (40 =
s Ok o) 00 2 OF 00 = e ujo A 0 ) = = A )
I [ RO <F - )] < oF K| B S o | no H mﬂ
- <k 31 20 r o K =S &~ |8 |m R oo |0 Rr R0 Rr X oRrr Rr Rr
- uir Rr oF Y| al A - - oM oo O |D- OF T O- RMOF oF oF
&l o 0 0 0 0 0 3 | oF HO mo o MO 3l Ao oF Mo [0 [0
R0 | O 3|81 O mr O 0 O O O
. — — < — [aN] <
I+




